AEBER/NE2REFR BB IETRRHRER

2024/01/15(2H—) 2024/01/16(2H =) N 2024/01/17(2HA=) 2024/01/18(ZEAIT) 2024/01/19(2HEF)
N RABAR 1,015 % ABAE 1,015 K| ABAE 1,015 | HARAH 1,015 s ABAR 1,015
Kiwm| &M & || fEE [DKk|mm] & & || G [Bles)| A & || fEEE [{Cles| & HBE || R Rles| & e || 5
BR | 2| EOR(GEE 45 |KG B e | [ R (EE 45 |KG B | ER(E B |KG =N 45  |KG B =] SR (EE 45 [KG
28| /N K 3 KG HABT| SRR 5 KG Zcit [56]2m)/ vk 6 KG A /NER(C 5 KG 5% e AR (EE 5 KG
as| AT 57 |KG CAS K| B2 45 |KG Q | 45 A 6 |KG Q BREEAT 69 Q iwe| %% 57 |KG CAS
A HERE T 25 |KG | T LI 16 |KG 4| SIIET A 6 KG Q B EREFQ 6 KG Q w45 T 5FQ 25 |KG Q
PE| B 10 |KG san| SERETN 24 |KG =|FHQ L5 |KG Q HEETAE 20 [KG = FERERFQ 14 |KG Q
s e SLEERT T Q 5 K4 Q SO DT R 1 [KG N EREREQ 15 [KG Q | |¥IFHQ 2 KRG Q |, [= FHEQ 1 K3 Q
;ﬁggH 05 [KG B 05 [KG Sk (2| MERE 5 KG Q| |a# ALK 3 1 ,g 7| FHAES 6  |KG
e | 03 [KG F | TTH 1 |KG || FRMCASH | 15 |KG CAS |, |®®|4T5%EHQ 5 KRG Q| |EEETERCEM 2 |KG CAS
& | 22| F3EQ 06 |KG Q |E|*e|{FTHi%k 05 [KG TEEESEEDQ| 06 KG P = IEEEEQ 03 K4 Q
5|2 | £ $14EBQ 03 |KG Q | B 7EHEQ 1 |KG Q
R AT IR/ TQ 3 |KG Q e AR % 1)) 02 K4 Q
/gt 98 /Nt 88 /Nat 52 /Nat 106 [ /N 106
v SEENEQ 64 [KG Q son | GG oF 26 [KG oo | 2T 39 |KG 2| KEHQ 76  |KG Q | GRE43KCE| 17 |3
33| KFHQ 15 |KG Q B38| H T 2FQ 30 |KG Q sus| BRRT 18 [KG w2 T 3 K4 Q | G2 A 6 K4 Q
) 1 KG Q 168 | 4T H A 44Q 9 [KG Q | OIS FT 14 [KG =2 /NREQ 2 |KG Q | HFHQ 1 |KG Q
;E MESIEET 03 [KG g [ SR B O 25 KG tesr| 4T R 45Q 5 [KG Q |..|swFOKHCASG| 05 |KG CAS
K ek 06 [KG iﬁ | FHEQ 07 |KG B || 85 B b4 03 [KG ®
" 5 g |2 [HEH 05 |KG || R (= 04 [KG 5
' FlERT B |8 e
% 2 T i3
#ii
et 80 [~ INEE 43 IINE 97 NEE BT [l INEE 25 ||
N UN=EL(:S 64  |KG 5 BEESHE 64 3| KFEASEQ 68 [KG Q P i ERFINGE 64  |KG 5 BiEE RS 64 [KG
b 1 KG X
B s L KG " 2 s L
= & : - =
~ g = VA 5
K1 K5 ki)
- /gt 6 | i /gt 64 | g 68 | - /gt 64 | * /et 64 [~
| HEEEQ 30 KG Q eaz| s 21 KG wrelsesamsat | 1,000 |{B| CAS i L 6 KG I HARINERE 27 KG Q
=|FHQ 1 KG Q x| 4 TR/ VN 5 K4 Q wESESER] 30 |f#l] CAS | FEEE150G 4 £ |47 BT 12 [KG
Fr || K& 3 |KG CAS |&|=s|#h3EED 3 [KG Ik || £8135BQ 6 K4 Q |4|=kE 3 |KG CAS
‘5 | mn| KF 3 KG CAS |&A e e N 3 KG CAS [
2 5] a B3| HEQ 06 |KG Q [K
H R F % J&
5 5 5 5
et 34 /NEE 32 et 1030 |- /et 20 | /INEE 31
Tl KEdR L015 % Trlea| R RERRH] 014 [
el wesEmciE| o4 [
2R 5.6 2R 5.4 Ex st 5.2 oo e 53 2R 54
BRAEAE 2.5 SRAEAN 23 TAEAN 2.5 SREAE 2.0 SAEASN 2.3
2 ] 2.2 a e 2.0 2 EEE 2.0 2 frE 1.8 2 BEE 2.0
;ﬁs PR FAIT 2.0 g AARFSRRAIT 2.0 55 HiFE SRRl T 2.5 é AR AT 2.1 é SRR AT 24
K%ﬁ 0.0 KEE 0.0 KEE 1.0 KEE 0.0 KEE 0.0
0.0 A 0.0 Al 0.0 Am¥E 1.0 ASE 0.0
725 g 691 i 774 it 781 it 709
rETENTEES
@Zsﬁz— e <m,> ﬁ/maﬁ s %g}g}‘a mgﬂi,ﬂ ”575}
REFE  HRERS RS FE: BE: 7L N H




REER/NE12BEET -SIRE AT RER R R Sa R

200401/15CEE—) D0ANII6(EE =) [/N. 200401/11CEE=) 2004101/ 18 CEEEAPT) 202401197
/N BB 20 s ABAR 20 k| ABAR 20 = HBEAH 20 | ABABK 20
k| B #BE |wik B BE |mE B BE |wu{-| B BE |mlkl B BE |
8] [ H R (EE EE  |KG|&R|ERE E  |[KGZE|EXKRE EE KGR |EKE E  |KG&R|ERE E  [KG
/oK B |KG |&EEk E  |KGHINK E  |[KG |hE(C E  KG |#ERGE E  KG
AL 03 2Tk 1 YFE 4 0.5 HEEEED)Q | 0.6 FALR(RL R 2
HEET B [KG [E%Q 06 [KG . |B6HAEBQ 03 HEETAE B [KG [BE#Q 03 [KG
e E  [KG P s FraQ E KGO E KGR |E{EHQ 1 KG
R4ZEETQ E  |KG [ 5 EREHQ EE  |KGHE|BALR#EK B |E[EEERQ 0.2
52| B A B KG [ E KGA|4Z%EHQ | FE |[KGW
A slThhicase| @ [KGT “
AHENTQ|  E [KG
gt 0 | /st 2 | /gt . /st T /gt 3 |
= [EREESEQ E  KG |[E2EEE B KG |E#HET 1 = N=EL0) EE |KG |SE43KCHE| B |%
& | RFEHQ E  |KGZ[EEZHFQ E KGR |WESFT E  [KG a R BE  |KGIk|EKHMCASE| 0.5
£ EamEsQ | B KoElEsEasg] B KGo|/MREQ E_KGE
U BT B |KG|% |EGQ | @ [KdT
# 2F | Bk B KGT "laE G B |KG|E
fii| st 0 |wm /Nst 0 | /gt T /st 0 |w= 1 [
N ENEEG:S E_KG| 7 [EREEE| & X [KEEATEO B K7 [AEERE|] = [Kq # E_ K]
£ e i 5]
sl /gt 0[] /vt 0 [~|=[ et 0 I 0 ||| g [
T HEEEQ E  [KG ZHEEA E  |KG " kg BE KG 4FAMER]( E ~ [KG
= FQ B kG ALmmEAv B [KG [EEEmwl @l omszisc] m el dam B KG
% R B G- A& #14EBQ E__KG 7
B /et 0 H /st I INg 0 |- & 3t 0 =] S st 0
T B |m| [ rRERE] B W
keTwen B g
att 11 it anert | &%t 12 H srerl | &3t 14 H snerl | 23t 17 it snert | A3 10 H #nert
(S E 56 [ SERRE 54 BX o 5.2 SERE] 53 SEAMRE 54
GRAERE 2.5 SRAERE 2.3 SAERE 2.5 SAERE 2.0 TREAE 2.3
i 22 |, | wRE 20 || w%m 20 || #ERE 18 || ZERE 2.0
| M RERET 2.0 | MERERET 2.0 | SRR 2.5 | MFERERET 21 | WS RAT 2.4
= KEE 0.0 = KB 0.0 = kEE 1.0 = kEE 0.0 = KR 0.0
A 0.0 A 0.0 AL 0.0 A 1.0 A58 0.0
28 725 s 691 2 774 #E 781 & 709
B TIAE FTARARM I SR F A B TR - T ]
SR FERR FRUE: TR R Bl e %’Uﬁgﬂ-

Efweg - 5
ot




